Electric Fields Practice Name:

1. Sketch the electric field surrounding a positive charge.
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2. Sketch the electric field surrounding a negative charge.

3. Consider the electric field 0.50 metres away from a 25 uC point charge.
a. Will the field’s direction be towards or away from the charge?
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4. Consider the electric field 1.5 metres away from a —50.0 uC point charge.
a. Will the field’s direction be towards or away from the charge?
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b. What is the field strength?

8. ‘I??x& X SOXW

— @ xIO; N/,

5. When we dealt with gravity, the gravitational field strength was equal to the acceleration due
to gravity. Why is this not true about the electric field strength?
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6. A 2.5uC charge experiences a 3.52 N electric force in an electric field. What is the strength of
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7. A —61.2 uC charge experience a 6.23 N electric force in an electric field. What is the strength of
the electric field?
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8. A0.25 kg object with a charge of 56 uC isin a 739 N /C electric field. What is the acceleration of
the object?
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9. Atadistance of 1.25 metres from a point charge the electric field strength is 560 N/C. 'H\.f «§ {“ d

a. At what distance will the field strength be 750 N/C? fC ‘/ [(-rn/ Z
E=ke 5 B seo(l2 SV~ q.7352x0
= < L GATS ™

-

b. At what distance will the field strength be 2.5 N/C? E
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c. At what distance will the field strength be 0.44 N/C?
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10. A +25 uC and a —45 pC point charge are 4.0 metres apart. What is the strength and direction
of the electric field:
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c. 3.0 metres from the +25 uC charge?
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11. A 425 uC and a +45 uC point charge are 4.0 metres apart. What is the strength and direction
of the electric field:
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b. 2.0 metres from the +25 uC charge?
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c. 3.0 metres from the +25 uC charge?
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12. A 3.0 uC and a —4.0 uC charge are 2.6 metres apart. What is the strength and direction of the
- electric field halfway between the two charges?
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13. What is the strength and direction of the electric field 3.7 I\
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14,
a. What s the strength and direction of the
electric field 0.23 metres to the West of a /"éo -1 )
65 uC charge, and 0.82 metres to the b
North of a —94 uC charge? ﬂ
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b. Ifa 2.0 uC charge was placed in that location what would be the electric static force
(magnitude and direction) acting on it?
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c. Ifa—2.0 uC charge was placed in that location what would be the electric static force
(magnitude and direction) acting on it?

Ma7 wi” éc H‘t{ Some év?’ cfi/ed[r'm;

are (e Ve sed

2N, 6.5% Nodh o Fas?




